EELHESaNIV

== ) ﬁ
BPC138US-2(S&h g
3%—
BREME B
i
==
i ZE
EX
E
2]
= b
P2
£5
&
i
Hi
3
1
BIER LR ,
#JIS (m) 05 &
1BJIS (m) 0.45 ﬁ;
T PC138US2(BH) by
A—FH— avy B
BT A (mm) i
25 7,260
208 2,515 Lz
e 2,850 ; iil%
HEHEHER (ke) 13,400 7=
I (kPa) — {EREFER | g‘;
{EZEEEHE (mm) o ;
RAEHISE 9,340 ~Ee
BAITES 6,840 e - 5
BAIRHIRS 5,480 ; : = A
BAEBIRHIRS 4,900 T4 %x D
B ATEHI R 8,300 AR\ ' bj‘
A REIREEE - L ;}/ H\ \\Lh i |
RSB/ EE 4% 1,980 gg 5 i
BB HEE R 1,480 23 / 1 ;
o e — =& . S I
EENTyMEY AR Dy Z2—ET (mm) 979 7= | 2 =5 =
22—k VAT l | 5 L B o]
cT 30M/38sq o i / oy ?
BERE KVA) 150kVA/400V L \
HHR B = *gj_i % N & |
EERCARLRET, £ [N I —
#CT3OMA B, 3 I -ﬁ vRE
| 4 *é{ R 48
: |7k
i 4 =
- A TREE RS - rg g
R
109 EBSKBI))




